FANATEC
G@r" DD PRO

EN Quick Guide
JP B&EE V1vIHAF
HKZE  {RiEER

S ZH Y HRiEER
= KR 20| ¥ 7to|=

For / Pour / FUr / Para PS5"™, PS4™

Video Manual

. Driver & Firmware
Driver Download Instruction Manual
—
VIDEO
MANUAL

&
AL

123/

4

%I%%

:[]

i . ;

Fanatec.com/QR/GT-DD-RWP-PRO Fanatec.com/driver Fanatec.com/df-manual-V1

[=]: g [=]

Windows PC

( Update Firmware )
/ =

*JP 77— LUIT%ZEH TS ; HK BFEN ; ZH BEFEH ; KR B0 YHoIE

EN PC compatibility not endorsed by Sony Interactive Entertainment Inc.

JP PCOE#2E(4, Sony Interactive Entertainment Inc. [C k> TIRFES N TUOE B A
HK PC #BA K4 Sony Interactive Entertainment Inc. B & -

ZH PC 3% &K & Sony Interactive Entertainment Inc. 4IAT] -

KR PC .84 & Sony Interactive Entertainment Inc.ol 4] 5.5-3}4] gk th,

EN Translations - Page 11; JPEJER - 11 RX—2  HKERE-F 11 H; ZHFE-F 1111 ;
KR S - 11H 0| X|

PACKAGE CONTENT B)

e EN 1x Gran Turismo® DD Pro
JP 1x Gran Turismo® DD Pro

HK 1 {# Gran Turismo® DD Pro
ZH 1 4 Gran Turismo® DD Pro
KR 1x Gran Turismo® DD Pro

EN 4x M6x8 mm T-Nut

|||I JP 4x M6x8 mm /\— Rk THw b
' HK 4 {8 M6x8 NEJEELREE T BUZHG

b ZH 4 4~ M6x8 [EEBRENEIE T BUEE
3| S E|T-

1x QR Lite e KR 4x M6x8 mm of= Ot2 & T-HE

Wheel-Side

EN 1x Steering Wheel for Gran Turismo® DD Pro

JP 1x Gran Turismo® DD Pro RF7 7V F KA —IbET 50D
HK 1 {& Gran Turismo® DD Pro /5[a#&

ZH 1 4 Gran Turismo® DD Pro A&

KR 1x Gran Turismo® DD Prog AE[0{& &

U~ EN 1x Power Supply
JP 1x BIR
HK 1 {& EiR{LAEsS
ZH 1/ EiR

A KR 1x & 33 &

EN 1x Power Cord (Regional);
JP Ix g BRI
HK 1 1% B EiRGR
(~160 cm) ZH 1 F8 Xigit Rgk
@ KR 1x X[ T AE

EN 1x USB Type-A to Type-C Cable

JPIXUSBRATA-214T Cr—T)b

HK 1 {& USB-A #& USB-C {EE45
o (~290 cm) ZH T1R USB-A % USB-C £24

KR 1x USB Type-A ~ Type-C #0|&

EN 1x RJ12 Cable EN 1x T20 Torx Key
JPIxRI27—7TIb T JP 1x T20 ML AL >V F

HK 1 {% R)12 fE84R HK 118 T20 {87 RiRF
ZH 1 4R RI12 &85 ZH 118 T20 B1ER/ABiRF

o (~200cm) yR 1xRJ12 HO|2 KR 1x T20 Torx HX|

CSL DD TABLE CLAMP
ATTACHMENT

5-60 mm

CONNECTIONS

Bila

1

.

Compatible Hardware / {5t / FRAHIREMF / 5.3 715 sh=9lof:

aaaaaaaaaaaaaaaaaaaaaaaaaa




For detailed information, please download the user manual from fanatec.com/downloads. This Quick Guide covers basic features and is not a replacement
for the full manual. The product warranty is provided by Endor AG. Refer to the included warranty sheet as well as the terms & conditions of Endor AG on
fanatec.com.

"B","PlayStation”, "PS5", "PS4" and "PlayStation Shapes Logo” are registered trademarks or trademarks of Sony Interactive
Entertainment Inc. All other trademarks are the property of their respective owners. Manufactured and distributed under license from
Sony Interactive Entertainment.

ON & OFF ' HARD-MOUNT PEDAL SETUP SUPPORT

FHRIC OV RDBFAD S 1—HF—< Za7)bE L7 O0— FLTLEE L fanatec.com/downloads &1 v 7 HA R TIEFRNGHEEEEHALTHY. T2
MRTHBI =27 IVDORDY TSV EEA. TORGRIZEndor AGDRIBIR T, [HBODRIEE &, fanatec. comDEndor AGDFI M ZESIBL T fEE LY,

CENTRE CALIBRATION {::2

“B","PlayStation”, "PS5", "PS4" et "PlayStation Shapes Logo” sont des marques déposées ou des marques commerciales de Sony
Interactive Entertainment Inc. Toutes les autres marques sont la propriété de leurs propriétaires respectifs. Fabriqué et distribué sous
Sony Interactive Entertainment.

WNTBFAREN, B TAIE FEEREFM: fanatec.com/downloads, ANHEIERIENBEANEE, FEEEURTERFM, AEMEEndor AGHIRESRE
EM. FE2Rfanatec.com EREMIAIRIEEELIR Endor AGHIESAMERLF.

0=

Enter Tuning Menu

BXREAER, BANATUETHRABFFM: fanatec.com/downloads, AREERINNMEEATIRE, TaeiETROFM. AF=MmEEndor AGHIHRETEE
W, BESRERMEELR fanatec.com_EEndor AGHISRFNS .

? 3

r]

GranTurismo®$B K U'GranTurismo®D A1,
Sony Interactive Entertainment Inc. DB REIEE fo IEBHE T,

Gran Turismo®F1Gran Turismo®#i#Z2
Sony Interactive Entertainment Inc. X512 ER B 1Z,

Gran Turismo® 2 Gran Turismo® & 3.+
Sony Interactive Entertainment Inc.2] &5/ % == XU th

Gran Turismo® # Gran Turismo® #1Z2
Sony Interactive Entertainment Inc. BUEE RSN EEHE,

e

AT LHES 228 oM ALEXL I F Y S CHRZE B A|2: fanatec.com/downloads. O] & 7H0|E& 7| & 7|50
CHAISHR = & LT Of M&2 Endor AGS| B5S HELICH ZeHE ES e fanateccomOilAf Endor AGS| 22 EHZ5|

@O

s CHRO] A RS
MAIL.

[=] mae:

Fanatec.com/support/faq

A

Wheel Base / Load Cell
[@

LIPS

oc®

Fanatec.com/app

=0

\&

WARNING: Choking Hazard - small parts.
Not for children under 6 years.

For home and office use only
RESIUF 71 ATOERADH

1 ® 30.85 mm 1 @

° T B AT NS HRRABUET, ERRERMIPAZEA Importers | BARE | #O17 | 31517
@ 8 mm ] } _ A Fanatec.com/QR/GT-DD-RWP-PRO 6;7{;%7%0)?1%:@5@}%35?’@/% MR EFN A= EE
E % X@é6§ll/\/{—FEGJL§ ° 7]'75] ty”l /\]"El"‘/}—:]_ Z(j‘g‘ Endor Japan Kabushi!(igaisya
- s BE ZRBRISH Tokyo 1040053 g
- E % ;F?Eﬂqﬁ%]ﬁufﬁgié% o Telephone: 03-6717-2719
— * - A Al 0] 20 M Email: webshop@fanatec.
MODES ; m l ' E [ = ﬁﬂh ®= ﬁ 60;1]]_ ‘;]é‘ﬂjﬂ‘j‘]%i _\::: ;’]tggey 3,: 31%1/] E]— Wrgg;itgew:lmj?a?;ng;n??uww.endor.ag
| S N
n
o

wuw 82

Resellers | 45— | #5847 | 2] 4

China RoHS 2

China RoHS 2 refers to the Ministry of Industry and Information Technology

Imported by FANATEC (Beijing) Internet Technology Co. for China
No.9 Fengxiang East Street, Yang Song Town, Huairou District, Beijing 201

Order No. 32, effective July 1, 2016, titled Management Methods for the

©
o
o
o
©
©

| © |
o

Restriction of the Use of Hazardous Substances in Electrical and Electronic

© © ¢ 0 0 0 0 00000000000 0000000000 00000000000 000000000000 0000000000 0000000000000 0000000000000 000 0

© © ¢ 0 0 0 0 00000000000 0000000000 00000000000 000000000000 0000000000 0000000000000 0000000000000 000 0

© © 6 0 0 0 0 00000 0 0000 000000 0000 00000 S 00000 00000000000 000000000000 000000000000 00000000000000C0O0COCE
E 1
’ .
7 EE' Al
o
© © 6 0 0 0 0 00000 0 0000 000000 0000 00000 S 00000 00000000000 000000000000 000000000000 00000000000000C0O0COCE

© © ¢ 0 0 0 0 00000000000 0000000000 00000000000 000000000000 0000000000 0000000000000 0000000000000 000 0

© © ¢ 0 0 0 0 00000000000 0000000000 00000000000 000000000000 0000000000 0000000000000 0000000000000 000 0

10 ¢ f D JP Ny —IRA  HK BEAS ; ZH BERS ; JPF1—ZVTA T3V HKHESRIE ; ZH Products. To comply with China RoHS 2, we determined this product’s Telephone: 86-18511581889
Fanatec.com/ o) KR I{7|X| L{ &= BRI, KR 2 4 Environmental Protection Use Period (EPUP) to be 10 years in accordance Email: 297551718@qg.com
mm X dt/CSL-P (%7 i with the Marking for the Restricted Use of Hazardous Substances n Electronic
EN Re,p?at (I — { o e ) . wxt JPF1—ZUFAZ1—|CAB; HKEEN ; and Electrical Products, SJT 11364-2014 Imported by Tobe Networks, Inc. (Post Code 17040) for Korea
JP #@)iRT _ | JPTRYF AN HK I ; ZH B KR 4 ZH # ; KR E0{7tCt 3th Floor, 434, Seongsan-ro, Pogok-eup, Cheoin-gu, Yongin-si, Gyeonggi-do, Republic of (South) Korea
s . o (¢} © o o o (@] 41© o
HK %%E Enter Tuning Menu I I )| . " \ N B 215 2016 £ 7 A 1 B Telephone: 82-31-217-8254 / 82-10-9409-2117 (Attn. Donghee Yun )
ZH — NI V . . JP #2495 ; HK Eff ; ZH 541 ; KR 2T st &HE RoHS 3 Email: support@gtgear.co.kr
KR ==0] ﬁ —_ @ M 6 }@ v gia%é]ggg ;g?\% éﬁ?ﬂ Hc:‘gﬁﬁj HREFN (EP # Website: www.fanatec.kr
' T E s JPFI1—ZUAZ1—H&T TS HK O ;
ZHHO ;KR EF BEEEE HENR
Part Name Hazardous Substances
JP 35T ; HK EB5=0 ; ZH &S0 KR 92 =T = - .
N Nt o P Q P MEREE | HK BIREZE ; ZH BEss | o] e | ey | o | B | e
ot for hard-mounting the 275 mm KR I8 MX| 9 i L s g 7 " N o
’ Manufactured and distributed by | 5% 35 A% fE
wheel base! < » JP A AT HK BIBCFORERS  ZH FRSFE B/ o o o o o o anufactured and distributed by | 83 KU | AEBEM DK | Al R
JP RA—)UN—RZEET S ;KR 77| & 117 N N . (Cable/Adaptor)
' JPARFIDEY R Ty HK BERERE ; ZH BiRIR wH
FeBHDLDTIEHBIELA! B KR Y 4% (sz) oo |o| o ° ° *>e o
»: Ty —— a— ®
HK BRI AR abiie JPE—F; HK#835  ZH 828 KR BE SR ENDo~
ZH NERTELEEmE! ( N x| 28HC] (Metal parts) X ° ° ° ° ° @ Fanatec” is a registered trademark of Endor AG Designed in Germany
KR ZH|0|AZ CiEhs| ———— © ) ] JPHR—b; HK32HE  ZH 328% ; KR Xl &0ttt T ol o 1ol o . . Designed and developed by Endor AG in Germany BERT
DM3B}7| Qe 0| opL|ch (Gm P LS %) Zﬁ;{;ﬁ ;aro'Tquﬁﬁ ; (Other endlosure components) E.ON-Allee 3 - 84036 Landshut - Germany ff IEQ% q
v . a o & - - Lo A
@ [L ZH sl KR HE 2| =20l el ol o ol o o ° ENDOR JAPAN #4350 4t EU: 00800 0 FANATEC or +49 (871) 9221122 AelA A
— (PcBA) US/CANADA: 011800 0 FANATEC or +49 (871) 9221122
JPF1—ZUTAZ2—ITAS  HKIEN ; ZH AN ; AR SI/T 11364 MELEHH . AUSTRALIA: 00800 0 FANATEC or +49 (871) 9221122 Made in China
i = . : +81306 7172719 PERE
PS5™ | PS4™ ' PC KR £0{7tCt This table is prepared in accordance with the provisions of SJ/T 11364-2014 JAP/{'\_U %
O 10 mm M6x(10+X) mm 22 mm g O FFHHENRLLHIAFTH SR 2 B GB/T 26572 RHREERLT. Emallinfo.webshop@fanatecom PERE
‘Ij(;il—?__/ﬁ AZ1—%KRTTS;HKHO ; ZH 1O ; 0: Indicates that the hazardous substance contained in all of the homogeneous materials for this part is below M:{,Z':ﬁ‘&;ﬁ‘:‘ anatec.com - www.endor.ag T Az
— =
™ ™ X | the limit requirement of GB/T 26572
(') PS5™/ PS4 @ PC Compatibility Fanatec.com/ X I X FREABNRE DS ESROR RN B8 BB GB/T 26572 EHRBER.
Compatibility . X: Indicates that the hazardous substance contained in at least one of the homogeneous materials used for . A "
Fanatec.com/manuals Fanatec.com/manuals | manual MGX(22+X) mm this part is above the limit requirement of GB/T 26572, Licensed for use exclusively with PS5™ consoles and PS4™ consoles. Rev.04



http://fanatec.com/manuals

